Vectors 3 – Algebraic Combination

Construct (using ordered pairs) the various vectors onto the provided axis below:

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


1) Vector A =  8/30o
Vector B =  10/135o
Find the Resultant Vector:
x = A cos 
x = (      ) cos (      )

x = (      )(0.           )

x= ___________  N

y = A sin 
y = (      ) sin (      )

y = (      )(0.           )

y= ___________  N

  Vector A =  < x, y>  =   <          ,          >
+Vector B =  < x, y>  =   <          ,          >
 Vector R1 =  < x, y>  =   <          ,          >





	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


2) Vector C =  5/150o
Vector D =  7/-135o
Find the Resultant Vector:

x = C cos 
y = C sin 
  Vector C =  < x, y>  =  <          ,         >
+Vector D =  < x, y>  =   <          ,          >
 Vector R2 =  < x, y>  =   <          ,          >



	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


3) Vector E =  10/315o
Vector F =  -5/225o
Find the Resultant Vector:
x = E cos 
y = E sin 
  Vector E =  < x, y>  =  <          ,          >
+Vector F =  < x, y>  =   <          ,          >
 Vector R3 =  < x, y>  =   <          ,          >



	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


4) Vector G =  -2/235o
Vector H =  12/135o
Find the Resultant Vector:

x = G cos 
y = G sin 
 
   Vector G =  <x, y>  =  <          ,          >
+Vector H =  < x, y>  =   <          ,          >
 Vector R4 =  < x, y>  =   <          ,          >


	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


5) Vector L =  4/-300o
Vector M =  8/335o
Find the Resultant Vector:

x = L cos 
y = L sin 

  Vector L =  < x, y>  =  <          ,          >
+Vector M =  < x, y>  =   <          ,          >
 Vector R5 =  < x, y>  =   <          ,          >



	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


6) Vector N =  -9/120o
Vector P =  5/135o
Find the Resultant Vector:

x = N cos 
y = N sin 

  Vector N =  < x, y>  =  <          ,          >
+Vector P =  < x, y>  =   <          ,          >
 Vector R6 =  < x, y>  =   <          ,          >



	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


7) Vector Q =  8/-30o
Vector X =  4/35o
Find the Resultant Vector:

x = Q cos 
y = Q sin 

  Vector Q =  < x, y>  =  <          ,          >
+Vector X =  < x, y>  =   <          ,          >
 Vector R7 =  < x, y>  =   <          ,          >



	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


8) Vector S =  7/-240o
Vector T =  7/240o
Find the Composite Vectors:

x = S cos 
y = S sin 

  Vector S =  < x, y>  =  <          ,          >
+Vector T =  < x, y>  =   <          ,          >
 Vector R8 =  < x, y>  =   <          ,          >


	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	



9) Vector U =  3/75o
Vector V =  9/215o
Find the Resultant Vector:

x = U cos 
y = U sin 
  Vector U =  < x, y>  =  <          ,          >
+Vector V =  < x, y>  =   <          ,          >
 Vector R9 =  < x, y>  =   <          ,          >



	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


10) Vector W =  10/300o
  Vector Z =  10/135o
Find the Resultant Vector:

x = W cos 
y = W sin 

 Vector W =  < x, y>  =  <          ,          >
+Vector Z =  < x, y>  =   <          ,          >
        Vector R10 =  < x, y>  =   <          ,          >


BONUS SECTION:

Decompose the given formula and develop the unit name from the compound unit:
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   =  (Mass)(Acceleration)  


   = 
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   =  (Mass)(Acceleration)(Distance) =  
[image: image10.png]kg m’
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  =
Explain below the difference between speed and velocity with proper scientific terms:
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x = B cos 


x = (      ) cos (      )


x = (      )(0.           )


x= ___________  N


y = B sin 


y = (      ) sin (      )


y = (      )(0.           )


y= ___________  N








x = D cos 


x = (      ) cos (      )


x = (      )(0.           )


x= ___________  N


y = D sin 


y = (      ) sin (      )


y = (      )(0.           )


y= ___________  N








x = F cos 


x = (      ) cos (      )


x = (      )(0.           )


x= ___________  N


y = F sin 


y = (      ) sin (      )


y = (      )(0.           )


y= ___________  N








x = H cos 


x = (      ) cos (      )


x = (      )(0.           )


x= ___________  N


y = H sin 


y = (      ) sin (      )


y = (      )(0.           )


y= ___________  N








x = M cos 


x = (      ) cos (      )


x = (      )(0.           )


x= ___________  N


y = M sin 


y = (      ) sin (      )


y = (      )(0.           )


y= ___________  N








x = P cos 


x = (      ) cos (      )


x = (      )(0.           )


x= ___________  N


y = P sin 


y = (      ) sin (      )


y = (      )(0.           )


y= ___________  N








x = X cos 


x = (      ) cos (      )


x = (      )(0.           )


x= ___________  N


y = X sin 


y = (      ) sin (      )


y = (      )(0.           )


y= ___________  N








x = T cos 


x = (      ) cos (      )


x = (      )(0.           )


x= ___________  N


y = T sin 


y = (      ) sin (      )


y = (      )(0.           )


y= ___________  N








x = V cos 


x = (      ) cos (      )


x = (      )(0.           )


x= ___________  N


y = V sin 


y = (      ) sin (      )


y = (      )(0.           )


y= ___________  N








x = Z cos 


x = (      ) cos (      )


x = (      )(0.           )


x= ___________  N


y = Z sin 


y = (      ) sin (      )


y = (      )(0.           )


y= ___________  N







































































Calculate and express the Resultant Vector using inflection and distance (direction and magnitude) notation:





  =  tan-1 (	  ) =  tan-1 (              ) = __________


r =  / xr2 + yr2  =  / 			   = ���__________





Vector R1 =  r /  =  (                ) / (                o)





xr





yr




















Calculate and express the Resultant Vector using inflection and distance (direction and magnitude) notation:





  =  tan-1 (	  ) =  tan-1 (              ) = __________


r =  / xr2 + yr2  =  / 			   = ���__________











Vector R2 =  r /  =  (                ) / (                o)














Calculate and express the Resultant Vector using inflection and distance (direction and magnitude) notation:





  =  tan-1 (	  ) =  tan-1 (              ) = __________


r =  / xr2 + yr2  =  / 			   = ���__________











Vector R3 =  r /  =  (                ) / (                o)














Calculate and express the Resultant Vector using inflection and distance (direction and magnitude) notation:





  =  tan-1 (	  ) =  tan-1 (              ) = __________


r =  / xr2 + yr2  =  / 			   = ���__________











Vector R4 =  r /  =  (                ) / (                o)














Calculate and express the Resultant Vector using inflection and distance (direction and magnitude) notation:





  =  tan-1 (	  ) =  tan-1 (              ) = __________


r =  / xr2 + yr2  =  / 			   = ���__________











Vector R5 =  r /  =  (                ) / (                o)














Calculate and express the Resultant Vector using inflection and distance (direction and magnitude) notation:





  =  tan-1 (	  ) =  tan-1 (              ) = __________


r =  / xr2 + yr2  =  / 			   = ���__________











Vector R6 =  r /  =  (                ) / (                o)














Calculate and express the Resultant Vector using inflection and distance (direction and magnitude) notation:





  =  tan-1 (	  ) =  tan-1 (              ) = __________


r =  / xr2 + yr2  =  / 			   = ���__________











Vector R7 =  r /  =  (                ) / (                o)














Calculate and express the Resultant Vector using inflection and distance (direction and magnitude) notation:





  =  tan-1 (	  ) =  tan-1 (              ) = __________


r =  / xr2 + yr2  =  / 			   = ���__________











Vector R8 =  r /  =  (                ) / (                o)














Calculate and express the Resultant Vector using inflection and distance (direction and magnitude) notation:





  =  tan-1 (	  ) =  tan-1 (              ) = __________


r =  / xr2 + yr2  =  / 			   = ���__________











Vector R9 =  r /  =  (                ) / (                o)














Calculate and express the Resultant Vector using inflection and distance (direction and magnitude) notation:





  =  tan-1 (	  ) =  tan-1 (              ) = __________


r =  / xr2 + yr2  =  / 			   = ���__________











Vector R10 =  r /  =  (               ) / (                o)








